FONRAY®

EREFI (54 1S015552 5% )
Standard Cylinder (Conforms to 1ISO15552 Standard)

ASI| &%l ASI Series

##& Specification
AJ4E Tube I.D. (mm) 32 40 | 50 | 63 | 80 | 100 | 125
BIERK ; ) )
Operation #EEhE! Double Acting
TENE - )
Workmg Medium = R Alr
B & HAZR Basic FAZltype FBE/type
Mountings CAZi/type CBZE/type LBE/type YBE/type
EREHEE 2
Operating Pressure Range O B gt
R EE S >
Proof Pressure 13.5 Kgticm
ERREEE
Operating Temperature Range 0-70T
fEREEHE
Operatilnlg Speed Range 50 ~800mm/s
é&uﬁfﬁt A4 Adjustable Cushion
BETE
Adjustable Cushion Stroke 20mm 26mm
EEOK D 0 7 D
Port Size G1/8 G1/4 G3/8 G1/2
REIRTER R Ordering Code
EagEd : @
—‘7 Tube 1.D. kK3 ‘ AR o
=1 &R 3
32 Stroke o
EX LR 40 LB: BIEEER 2
TH: EEEHE 50 RIFATHE FA: ?U*@Ei 3
D. &g EnAl 63 Adjustable Stroke ~ FB: REEER o)
J. EEEETITIEE 80 AR 10:10mm CA: RESHEER <
Series Code 100 M: Mi#EE 20:20mm CB: AEYHEIEL 5
Blank: Standard 125 ZTH: NH#E 30:30mm YB: BEXEEER %
double acting Magnet Code 50:50mm Mountings =
D: Double-shaft M: Magnet 75:75mm Blank: Basic mountings
double acting Blank: Without 100:100mm LB: Front and back mounting “
J: Double-shaft with magnet FA: Front mounting flange
adjustable stroke FB: Back mounting flange
AIGE CA: Back clevis
ASI: 1SO15552 AR AT (Single earring)
Series CB: Back hinge _
ASI: 1SO 15552 (Double earring)
Standard cylinder YB: Back hinge
*ASI R FIHE HESREL 250 5 B mgEY
*All ASI series standard cylinder are with magnet.
=
1712 Stroke
IRk BT BARITEE BT
Tube I.D. Standard Stroke Max. Stroke Allowable Stroke
32 25 50 75 80 100 125 150 160 175 200 250 300 350 400 450 500 1000 2000
40 25 50 75 80 100 125 150 160 175 200 250 300 350 400 450 500 600 700 800 1200 2000
50 25 50 75 80 100 125 150 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1200 2000
63 25 50 75 80 100 125 150 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
80 25 50 75 80 100 125 150 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
100 25 50 75 80 100 125 150 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
125 25 50 75 80 100 125 150 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000

| 06 Y



ERRFEL ( F54 1S015552 {4 )
Standard Cylinder (Conforms to 1ISO15552 Standard)

FO"RAY® ASI &35 AS| Series

SRR~ Dimensions 32 ~ ®125

A+{T1Z (Stroke) )
C+{T1E (Stroke) |
E B G 2-2EH20E Buffer Nut) 8-LiR (Depth) M
H FIN_ |a M
J
N,
Gg:}# N4l 2 N A 2_Q_Q
Qg X } S
o
\Y
A1+1T#2 (Stroke) x2
C+{77% (Stroke)
E B G B | E+{T#2 (Stroke)
H FI_N Q 2-AR{ETIZ0E (Buffer Nut) H 8-LiR (Depthy M
J F J
2-¢
olZ|o 2 *@
&&@tz Tl T T A T b w b
e[\ @
V
A2+1778 (Stroke)x2+7] i {T#E (Adjustable Stroke) }
C+1T#2 (Stroke) B 172 (Stroke)  Z1+Fi8{712|Adjustable Stroke)
E Bl.G 2-fZEIE1E (Buffer Nuf) 8-LiX (Depth) M
H FILN_,_la F J 4
! |
2.
_ i G
QED#{‘ B 2 B . < I N Vs B =
SIS VALY ] ol
| @ -
fac
\Y < : S
R~t3 Dimension
5% Symbol
A A1 A2 B (o3 D E F G H | J K L
{4 Tube 1.D.
32 142 190 185 16 94 30 28 10 25 22 17 6 M10x1.25 M6
40 159 213 207 20 105 85 32 10 29.5 24 17 7 M12x1.25 M6
50 175 244 233 27 106 40 42 10 32 32 23 8 M16x1.5 M8
63 190 258 247 26 122 45 40 10 36 32 23 8 M16x1.5 M8
80 214 301 288 35 127 45 53 10 37 40 26 10 M20x1.5 M10
100 229 321 308 40 137 55 55 10 39 40 26 10 M20x1.5 M10
125 277 394 378 46 160 60 74 10 43.5 54 40 10 M27x2 M12
5% Symbol
- M N (o) P Q R S T U \) w X Y Zz Z1
4 Tube 1.D.
32 12 15 G1/8 5 3 6.5 45 325 12 10 28 4 46 58.7 21
40 12 17.5 G1/4 7 8 52 38 16 13 33 4 53.7 68 21
50 12 20 G1/4 7 3 9 65 46.5 20 17 38 4 65.8 84.5 23
63 12 22 G3/8 8 5 9 76 56.5 20 17 38 4 79.9 99.6 23
80 15 23 G3/8 10 5 12 94 72 25 22 43.5 5 101.8 123.8 29
100 15 26 G1/2 10 5 14 112 89 25 22 47 6 125.9 148.9 29
125 20 29 G1/2 10 5 14 134 110 32 27 53 7 156.9 179.6 40.5

| 07



EREFIL (54 1S015552 iF# )
Standard Cylinder (Conforms to 1ISO15552 Standard)

FO"RAY® ASI &35l ASI Series
M Accessories ®32 ~ ®125

QV@
—>H<ﬂ £T1Z Tube |.D.
_2-@AK % P —— 32 40 50 63 80 100 125
< i d
- ;@g . AA 32 36 45 50 63 71 90
. i ) AB 30 35 40 45 45 55 60
2-0AL | T | AC AF AC 32 36 45 50 63 75 )
AD AD 325 38 465 | 565 72 89 110
AE AE 465 | 525 65 75 945 | 1145 | 140
AF 24 28 32 32 1 1 45
AG 9 11 11 14 14 16 18
AH 15.8 17 | 218 | 218 27 265 35
e ] || Al 3.2 3.2 32 36 45 45 8
@ AJ 142 | 161 170 | 185 | 210 | 220 | 250
AK 6.5 6.5 85 85 | 105 | 105 | 125
| AJ+1772Stroke | AL 7 10 10 10 12 14.5 16.5
FA /| FB i%f Flange
T BB TEOl s | a0 | 50 | 63 | 80 | 100 | 125 | -
_ i N | BH #4% Symbol §-
> TERET TR
A A -
A%y N BC 45 52 65 76 94 112 | 140 of
BD 32 36 45 50 63 75 90 Sﬁ[
@|&| - — -—-— BE 80 90 110 120 150 175 | 224 5
BF 64 72 ) 100 | 126 | 150 | 180 s
Q\ | () 4-@BP A~ BH 6.5 6.5 8.5 8.5 105 | 105 15 -
S {}/ AJ 105 | 105 | 135 | 135 | 165 | 165 19
L | J X1 AK 6.5 6.5 8.5 85 | 105 | 105 | 125
55 BD BP 7 9 9 9 12 14 16
BC T 325 38 465 | 565 72 89 110
I1E Tube 1.D.
e — 32 40 50 63 80 100 125
S 45 52 65 76 94 112 | 140
T 325 38 465 | 565 72 89 110
RR 6.5 6.5 9 95 11 115 12
DB 34 1 54 65 83 101 123
DC 22 25 27 32 36 4 50
. DD 10 11 13 16 16 20 25
@DE(H9) DE 10 12 12 16 16 20 25
DQ 26 28 32 40 50 60 70
D 65 65 85 85 | 105 | 105 | 125
E 14 17 17 22 24 25 30




EREREL (54 1S015552 £ 4 )
Standard Cylinder (Conforms to 1ISO15552 Standard)

FO"RAY® ASI| &3l ASI Series

MifF Accessories ®32 ~ 125
CB # HiIR Hinge

{I4% Tube I.D.

ey 32 40 50 63 80 100 125

S 45 52 65 76 94 112 140

T 325 38 465 | 565 72 89 110

D 6.5 6.5 85 8.5 105 | 105 | 125

E 14 17 17 22 24 25 30

. RR 6.5 6.5 9 95 11 115 12

BCE(H9) CB 34 41 54 65 83 101 123

cc 22 25 27 32 36 41 50

cD 10 11 13 16 46 20 25

CE 10 12 12 16 16 20 25

cP 26 28 32 40 50 60 70

cT 45 52 60 70 ) 110 120

______ PA1 53 60 68 78 100 120 130
PB1 465 | 535 | 615 | 715 | 915 | 1115 | 1215

YB 3 Hinge
#I1Z Tube I.D.

e 32 40 50 63 80 100 125

AH 32 36 45 50 63 71 )

G3 04 H 8 10 12 12 14 15 20

s LR cB-08 cD 10 12 12 16 16 20 25
G1 31 35 45 50 60 70 )

W ‘ G2 18 22 30 35 40 50 60
G3 21 24 33 37 47 55 70

- B cB 26 | 28 | 32 | 40 | 50 | e | 70
< St K1 38 41 50 52 66 76 94
II TW r 7_; :’r“v':‘ ‘-r--1-i = K2 51 54 65 67 86 96 124
: P S1 1 11 14 14 17 17 20

G2 | .52 K1 S2 6.6 6.6 9 9 11 11 14

= K2 T 16 16 16 1.6 25 25 32

R 10 11 13 15 15 19 225




